
Choosethecorrectanswerfromthebrackets.

1.Onecrore=—————-lakhs.
(Thousand,Hundred,Ten)

2.If1kgofmangoescost40rupees,thecostofhalfkgis—————
(30,20,10)

3.Thenumeralforonecroreisexpressedas————-
(10000000,1000000,100000)

4.Thenumberofzerosinonelakhis————
(5,6,7)

5.Whenfreshmangoisdrieditbecomes1/3ofitsweight.Wedry6kgfreshmangoes
toget———-kgdriedmangoes
(1kg,2kg,3kg)

6.One–fourthof100rupeesis—————-
(25,50,75)

7.Anumberdividedbyzeroisequalto—————-
(0,1,2)

Solvethefollowing:

1.Acartravels120kmin3hours.Findthespeedperhour.

2.Nithyaborrowed12000rupeesfromabank.Sherepays825rupeeseverymonth
forayear.Howmuchmoneydoessherepayattheendofayear?
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3.Whenfreshmangoisdried,itbecomes1/3ofitsweight.Ifwewant6kgdried
mango,howmuchkilogramsoffreshmangoesareneeded?

4.Amaltookaloanof24000rupeesforbuyingalaptop.Hepaidbackatotalof
30000rupeesinoneyear.Howmuchdidhepaybackeverymonth?

5.Speedofamotorboatis10km/hour.Howfarcanamotorboatgoinsevenand
halfhours?

6.Amitbhaisellskesarmangoat120rupeesperkg.VanrajbhaisellsAlphonsoat
250rupeesperkg.Amitbhaisells12kgkesarmangoandVanrajbhaisells15kg
Alphonso.Whatisthedifferenceoftheirearnings?

7.Thecostofamangoeboxweighs8kgis1200rupees.Whatisthecostperkg?

8.Gracytookaloanof4000rupeestobuyamixergrinder.Shepaidback345
rupeeseverymonthforoneyear.HowmuchmoneydidshepaybacktotheBank?



9.Manuborrowed34000rupeesfromabanktobuyarefrigerator.Herepaid42000
rupeesinoneyear.Howmuchdidherepaymonthly?


